«Ynompeonenue 21az2o1086
fit, match, suit»



1) This hat fits the girl.
(OTa Wwnana Bnopy 3Ton AeBOYKE.)

2) These glasses don't fit the child.
(OTK 04KM He rogaTca pebeHky.)




1) This T-shirt ... him.

(Ota cbyTOONKa ero pasmepa )
This T-shirt fits him.

2) These boots ... him.

(3T 6OTUHKM eMy He no pa3mepy)
These boots don’t fit him.

3) These trainers ... him.

(OTK KpoccoBKM emy Brnopy)
These trainers fit him.



1This skirt matches the blouse.
(OTa tobka nogxoauT K bryske).

2)These boots don’t match the suit.
(3T DOTUHKN HE coYeTatoTCcs C
KOCTHOMOM).




1)These black shoes ... this dress.

(OTn yepHble Typnn noaxoaAT K NnaThbio)
These black shoes match this dress.
2)This sweater ... the dress.

(OTOT CcBUTEpP He coyeTaeTcs C NiaTbeM).
This sweater doesn’t match the dress.
3)These trainers ...the dress.

(OTK KPpOCCOBKM He coYyeTaroTCs C
nnaTbem).

These trainers don’t match the dress.
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1)The dress suits the little girl.
(MnaTtbe K nuuy MarneHbKou OeBOoYKe).

2)This hat doesn’t suit the man.
(OTa Wwanka He nNoaxoauT MyXX4uHe).




1) These shoes ... the jacket.
(OT™K canorm He NoAXoANAT K 3TOU
KYpPTOuKe.)

These shoes don’t match the jacket.
2) These trousers ... the shoes.
AT OPIOKM NOAXOAAT K 3TUM
canoram.

These trousers match the shoes.
3) This headscarf ... the girl.
(OTOT NnaToK K nuuy AeBYyLUKe.)
This headscarf matches the girl.




